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R ma | BT e | B2 | e | o e | B2 | BT e | B2 | TR | & |
1 100kN/m##8% % 1.00]0.00 ~ 3.21 151.26|3m*x# %% 0.00 ~ 1.93 3.82 20.43| 100kN/mM#%#8% % 1.00{ 10.88 ~ 64.00 151.26| 3m%#% %| 40.00 ~ 64.00| 3.82 20.43
s 1.00] 3.21 ~ 10.99 100.00| ##list 1193 ~ 10.99| 3.00 16.05 s 1.00f 5.00 ~ 10.88 100.00f Z=hl4t+ | 5.00 ~ 40.00( 3.00 16.05
9 100kN/m##8 %% 1.00{ 0.00 ~ 3.94 164.32| 3m%#%%| 0.00 ~ 2.34| 4.11 22.02| 100kN/m#%#8% % 1.00{ 10.56 ~ 69.03 164.32| 3m%# % 5| 25.00 ~ 69.03 4.11 22.02
s 1.00{3.94 ~ 11.72 100.00f Zhlst | 2.34 ~ 11.72] 3.00 16.05 s 1.00f 5.00 ~ 10.56 100.00f Zhl4t+ | 5.00 ~ 25.00( 3.00 16.05
3 100kN/m##8 %% 1.00{ 0.00 ~ 4.07 166.74| 3m%#% %] 0.00 ~ 2.49| 4.24 22.70| 100kN/m#%#8% % 1.00{ 10.75 ~ 69.41 166.74| 3m%x#8% 5| 25.00 ~ 69.41| 4.24 22.70
s 1.00{ 407 ~ 11.86 100.00f Zhl9t | 249 ~ 11.86] 3.00 16.05 s 1.00f 5.00 ~ 10.75 100.00f Z=hl4t+ | 5.00 ~ 25.00( 3.00 16.05
4 100kN/m##8 %% 1.00{0.00 ~ 3.70 159.96| 3m*x# %% 0.00 ~ 2.95 4.73 25.32| 100kN/m#%#8% % 1.00{ 1297 ~ 61.09 159.96| 3m%*#% %] 20.00 ~ 61.09| 4.73 25.32
s 1.00{3.70 ~ 1148 100.00f Zhlst |2.95 ~ 11.48] 3.00 16.05 s 1.00f 500 ~ 12.97 100.00f Z=hkl4t+ | 5.00 ~ 20.00f 3.00 16.05
5 100kN/m##8 %% 1.00{0.00 ~ 3.84 162.54|3m%#% %] 0.00 ~ 2.88| 4.64 24.83| 100kN/m#%#8% % 1.00{ 12.36 ~ 60.00 162.54| 3m%x#% %] 20.00 ~ 60.00| 4.64 24.83
s 1.00{3.84 ~ 11.63 100.00f Zhlst | 2.88 ~ 11.63] 3.00 16.05 s 1.00f 500 ~ 12.36 100.00f Z=hkl4t+ | 5.00 ~ 20.00f 3.00 16.05
6 100kN/m##8 %% 1.00{ 0.00 ~ 3.86 162.81|3m%x##%%|0.00 ~ 2.88 4.63 24.80| 100kN/m#%#8% % 1.00{ 12.33 ~ 61.16 162.81|3m%#% %] 20.00 ~ 61.16| 4.63 24.80
s 1.00/ 3.86 ~ 11.64 100.00f ZhLl9t | 2.88 ~ 11.64| 3.00 16.05 s 1.00f 500 ~ 1233 100.00f Z=hl4t+ | 5.00 ~ 20.00f 3.00 16.05
7 100kN/m##8 %% 1.00{ 0.00 ~ 3.96 164.72| 3m%#% %] 0.00 ~ 2.80| 4.54 24.31| 100kN/m#%#8% % 1.00{ 11.83 ~ 60.00 164.72| 3m%x# % %| 20.00 ~ 60.00| 4.54 2431
s 1.00{3.96 ~ 11.75 100.00f Z=hl9t | 2.80 ~ 11.75] 3.00 16.05 st 1.00f 500 ~ 11.83 100.00f Z=hl4t+ | 5.00 ~ 20.00f 3.00 16.05
8 100kN/m##8 %% 1.00{ 0.00 ~ 4.03 165.97|3m%x# %% 0.00 ~ 2.72 4.46 23.88| 100kN/m#%#8% % 1.00{ 11.45 ~ 60.00 165.97| 3m%x#% %] 25.00 ~ 60.00| 4.46 23.88
s 1.00] 4.03 ~ 11.81 100.00f Zhlst |2.72 ~ 11.81] 3.00 16.05 st 1.00f 500 ~ 11.45 100.00f Z=hl4t+ | 5.00 ~ 25.00( 3.00 16.05
9 100kN/m##8 %% 1.00{ 0.00 ~ 3.99 165.33| 3m%#%%| 0.00 ~ 2.66] 4.40 23.55| 100kN/m#%#8% % 1.00{ 11.21 ~ 52.00 165.33| 3m%x#% 5| 25.00 ~ 52.00| 4.40 23.55
s 1.00{3.99 ~ 11.78 100.00f ZhLlst | 2.66 ~ 11.78] 3.00 16.05 s 1.00f 500 ~ 11.21 100.00f Z=hl4t+ | 5.00 ~ 25.00( 3.00 16.05
10 100kN/m##8% % 1.00{ 0.00 ~ 3.94 164.26| 3m%#% %] 0.00 ~ 1.78] 4.00 21.39| 100kN/m#%#8% % 1.00{ 11.25 ~ 48.00 164.26| 3m%x#% 5| 25.00 ~ 48.00| 4.00 21.39
s 1.00{3.94 ~ 11.72 100.00| #+nlist | 1.78 ~ 11.72| 3.00 16.05 st 1.00f 500 ~ 11.25 100.00f Z=hl4t+ | 5.00 ~ 25.00( 3.00 16.05
11 100kN/m##8% % 1.00{ 0.00 ~ 3.89 163.49| 3m%x# %% 0.00 ~ 1.76 3.98 21.28| 100kN/m#%#8% % 1.00{ 11.17 ~ 4496 163.49| 3m%x#8% 5| 25.00 ~ 44.96| 3.98 21.28
s 1.00{3.89 ~ 11.68 100.00| #Hlist |1.76 ~ 11.68| 3.00 16.05 st 1.00f 500 ~ 11.17 100.00f Z=hl4t+ | 5.00 ~ 25.00( 3.00 16.05
12 100kN/m##8% % 1.00{0.00 ~ 3.73 160.56| 3m*x# %% 0.00 ~ 1.88 4.09 21.87| 100kN/m#%#8% % 1.00{ 11.68 ~ 42.00 160.56| 3m#*#% %| 20.00 ~ 42.00| 4.09 21.87
s 1.00{3.73 ~ 11.52 100.00| #+list | 1.88 ~ 11.52| 3.00 16.05 s 1.00f 500 ~ 11.68 100.00f Z=hkl4t+ | 5.00 ~ 20.00f 3.00 16.05
13 100kN/m##8% % 1.00{0.00 ~ 3.30 152.88| 3m%#% %] 0.00 ~ 0.93| 3.60 19.25| 100kN/m#%#8 2% 1.00{ 1215 ~ 34.00 152.88| 3m%x#% %] 20.00 ~ 34.00| 3.60 19.25
s 1.00{3.30 ~ 11.08 100.00f Z=hkl9t | 0.93 ~ 11.08] 3.00 16.05 s 1.00f 500 ~ 12.15 100.00f Z=hl4t+ | 5.00 ~ 20.00f 3.00 16.05
14 100kN/m##8% % = ol ~ = -|3m%i#825(000 ~ 0.17| 3.16 16.91| 100kN/m#%#8 2% = o ~ = -|3m#%#8%5[15.00 ~ 17.82| 3.16 16.91
s 1.00{0.00 ~ 7.19 91.44| ZhLls |017 ~ 7.19| 3.00 16.05 s 1.00f 500 ~ 17.82 9144 Zhl4+ | 5.00 ~ 1500 3.00 16.05
15 100kN/m##8% % 1.00]0.00 ~ 1.11 116.68| 3m%x#B=x 5% ol ~ = = —| 100kN/mM%#BZ % 1.00{ 10.65 ~ 14.00 116.68| 3m%x#B2 5 =l ~ - - =
s 1.00{1.11 ~ 8.89 100.00| Zh kst 10.00 ~ 8.89 2.27 12.12 s 1.00f 5.00 ~ 10.65 100.00| Zh Lot | 500 ~ 14.00| 2.27 12.12




